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(1) sin(a + B) = sinacos 8 +
(2) sin(aa — B) = sinacos B —
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(3) cos(ax + B) = cos axcos [ — sin asin 3

(4) cos(ax — B) = cosaxcos 3 4 sin asin 3
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B=ao-7
sin A 4 sin B = sin(a 4+ 8) + sin(a — ()

— 2sin o cos (3

CCTC, o= 3 = ThdhH,

sin A 4 sin B = 2sin A;B COS A;B
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sin A —sinB,cos A+ cosB,cosA —cosB
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sin A 4+ sin B = 2 sin A_IZ_B COS A;B

sin A + sin B = 2 cos A_|2_B Sin A;B

cos A + cos B = 2 cos A_Iz_B CcOS A;B

A—l—BS. A— B

cosA —cos B = —2sin 1n >
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sin 460 + sin 0 =

sin 40 — sin 6 =

cos 50 + cos 30 =

cos 30 — cos O =
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A+B+C =1 DEx, FEX

sinA-+sinB +sinC = 4COS%COS§COS%
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sin A + sin B =

¥/, C=m7w— A — B »5b,
sin C =

L7=D->T,

sinA+sinB 4+ sinC





